[image: image1.jpg]





RDMOTO CZECH REPUBLIC


2
info@rdmoto.cz



www.rdmoto.cz


H41
Honda CBR 600RR-´14 
Fitting kit left side:

     

   Fitting kit right side:
	ID
	Description
	Cat.n
	Qty

	2
	Steel box
	X1
	1

	3
	Dural.reduction cyli.
	1122
	1

	4
	Bolt M10x60
	850
	1

	5
	Steel adapter
	668
	1

	6
	Washer M12
	803
	1

	7
	Bolt M12x80x1,25
	891
	1

	8
	Aluminium cylinder 
	1123
	1

	9
	3M Tape
	3M
	2


	ID
	Description
	Cat.n
	Qty

	2
	Steel box
	X1
	1

	3
	Dural.reduction cyli.
	1122
	1

	4
	Bolt M10x60
	850
	1

	5
	Steel adapter
	669
	1

	6
	Washer M12
	803
	1

	7
	Bolt M12x80x1,25
	891
	1

	8
	Aluminium cylinder 
	1123
	1

	9
	3M Tape
	3M
	2


Assembly to instruction
1. Removal of lower fairing. On the imide is a screw clips.
2. Make the first left or right side and after this, can make start opposite side.
3. Dismantle original bolt from frame M12.
4. Stick on the frame 3M tapes ID.9, insert aluminium cylinder ID.8 and mount steel adapter ID.5 from outside the frame.For gripping use bolt ID.7 and washer ID.6.
5. This same make on opossite side.
6. If you have mount both side you can moun fading on the bike.
7. Into the protektor inser steel box ID.2.

8. Under the protektor insert dural.reduction ID.3 and this set gripping on the steel adapter, use bolt ID.4
Note: When assembling, please use the glue on the threads.
[image: image2.jpg]


[image: image3.jpg]


[image: image4.png]



1

